
HSSC – PATWARI ADVERTISMENT NO. 7/2015 (Cat No. 13) dated of  written exam on 01.05.2016 

1. Planets nearest to the Sun are

(A) Mercury and Mars

(B) Mercury and Venus

(C) Earth and Mercury

(D) Mercury and Uranus

2. Who had the office of the Vice-

President of India for two

Consecutive terms?

(A) Dr. S. Radhakrishan

(B) Mr. R Venkataraman

(C) Dr. Shankar Dayal Sharma

(D) Mr. V.V. Giri

3. Which one of the following would

not constitute and economic activity?

(A) A teacher teaching students in his class

(B) A teacher teaching students

under Sarva Shiksha Abhiyan

(C) A teacher teaching his own

daughter at home

(D) A teacher providing consultancy Services from

his residence

1- lw;Z ds lcls fudVre xzg gS

(A) cq/k ,oa eaxy

(B) cq/k ,oa 'kqØ

(C) i`Foh ,oa cq/k

(D) cq/k ,oa ;wjsul

2- Hkkjr ds mi&jk"Vªifr ds in ij yxkrkj nks ckj dkSu jgk Fkk?

(A) MkW- ,l- jk/kk—".ku

(B) Jh vkj- osdVje.k

(C) MkW- 'kadj n;ky 'kekZ

(D) Jh oh- oh- fxfj

3- fuEufyf[kr esa ls dkSu&lh vkfFkZd fØ;k ugha cusxh ?

(A) viuh d{kk esa Nk=ksa dks i<+k jgk v/;kid

(B) loZ f’k{kk vfHk;ku ds varxZr Nk=ksa dks i<+ jgk v/;kid

(C) ?kj esa viuh csVh dks i<+k jgk v/;kid

(D) vius fuokl ls ijke’kZ lsoka, miyC/k djk gjk v/;kid

4. Which was the name accorded to the Military Operation

in kargil in 1999?

(A) Operation Pawan

(B) Operation Poomalal

(C) Operation Vijay

(D) Operation Brasstacks
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5. Who is Famine Miss India 2016?

(A) Aditi Arya

(B) Pankhuri Gidwani

(C) Priyadarshini Chatterjee

(D) None of these

6. Union Cabinet has proposed to

provide ‘Housing For All’ by the year 

(A) 2019 (B) 2022

(C) 2025 (D) 2030

7. Which Amendment of the Indian

Constitution inserted the two words – ‘Socialist’ and 

‘Secular’ in the Preamble? 

(A) 28
th

(B) 40
th

(C) 42
th

(D) 52
th

4- 1999 esa dkjfxy esa lSfud dkjZokbZ dks D;k uke fn;k x;k Fkk ?

(A) vkWijs’ku iou

(B) vkWWijs’ku iwekybZ

(C) vkWijs’ku fot;

(D) vkWijs’ku czklVSDl

5- Qsfeuk fel bafM;k 2016 dkSu gS ?

(A) vfnfr vk;Z

(B) ia[kqjh fxMokuh

(C) fiz;n’kZuh pVthZ

(D) buesa ls dksbZ ugha

6- dsUnzh; eaf=eaMy us ^lHkh ds fy, ?kj^ izLrkfor fd;k gS bl o"kZ rd

(A) 2019 (B) 2022

(C) 2025 (D) 2030

7- Hkkjrh; lafo/kku ds fdl la’kks/ku }kjk izLrkouk esa nks 'kCn ^lektoknh^

vkSj ^/keZ&fujis{k^ tksM+s x, Fks ?

(A) 28osa (B) 40osa

(C) 42osa (D) 52osa

8. The Finance Commission

(A) draws up Five Year Plans

(B) formulates Monetary Policy

(C) recommends pay revision of Central 

Government Employees. 

(D) adjudicates on the sharing of Resources between

Centre and the States 

9. Who was he first Indian soldier to

Refuse to use the greased cartridge ? 

(A) Nana Shah

(B) Bahadur Shah

(C) Mangal Pandey

(D) Tantia Tope

10. During periods of inflation, tax rates     should

(A) increase
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(B) decrease

(C) remain constant

(D) fluctuate

11. Select the related number.

25  :  125  :  36  :  ?

(A) 180 (B) 216

(C) 206 (D) 318

8- for vk;ksx

(A) iapo"khZ; ;kstuk¡, cukrk gSaA

(B) eksfnzd uhfr rS;kj djrk gS A

(C) dsafnz; ljdkj ds deZpkfj;ksa ds osru esa l’kks/ku dh flQ+kfj’k

djrk gSaA 

(D) dsanz vkSj jkT;ksa ds chp lalk/kuksa ds caVokjs ij fu.kZ; ysrk gS

A 

9- pchZ yxs dkjrwl ds iz;ksx ls budkj djus okyk igyk Hkkjrh; flikgh

dkSu Fkk ?

(A) ukuk lkgc

(B) cgknqj 'kkg

(C) eaxy ikaMs

(D) rkR;ka Vksis

10- eqnzkLQhfr ds le; ds nkSjku dkj dh njksa esa fuEufyf[kr esa ls D;k gksxk

?

(A) o`f)

(B) deh

(C) fLFkj cus jguk

(D) ?kV&c<+

11- lacaf/kr la[;k dk p;u dhft,A

25  :  125  :  36  :  ? 

(A) 180 (B) 216

(C) 206 (D) 318

12. Which one set of letters when

Sequentially placed at the gaps in the

given letter series shall complete it ?

y_X_ _zx_xy_zxy

(A) zyyyzy (B) xyzxyz

(C) zxyzyz (D) zyxxyz

13. If in  a code language, the RADIO is

written as ABCDE and BROADCAST is

written FAEBCGBHI, how is RATIO be

written in that code ?

(A) ABIDE (B) AIDBE

(C) DBEID (D) BEIDA

14. If A is the mother of D, B is not the son

Of C, C is the father of D, D is the sister

of B, then how is  A related to B ?

(A) Mother (B)   Brother 

(C) Step Son (D)   Sister 

15. If C = 3 and CAT = 24, what is FAULT?
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(A) 60 (B) 57

(C) 64 (D) 72

16. Select the one which is different from

the other three responses.

(A) XZYP (B) ADGJ

(C) KNQT (D) EHKN

12- nh xbZ v{kj&Jà[kyk ds [kkyh LFkkuksa ij Øe ls j[kus ij fuEufyf[kr esa

ls dkSu lk v{kj lewg mls iwjk djsxk ?

y _ X _ _ zx _ xy _ zxy 

(A) zyyyzy (B) xyzxyz

(C) zxyzyz (D) zyxxyz

13- ;fn ,d dwV Hkk"kk esa RADIO dks ABCDE fy[kk tk, vkSj

BROADCAST dks FAEBCGBHI fy[kk tk,] rks ml dwV Hkk"kk esa

RATIO dks fdl izdkj fy[kk tk,xk ?

(A) ABIDE (B) AIDBE

(C) DBEID (D) BEIDA

14- ;fn A ekrk gS D dh] B csVk ugha gS C dk] C firk gS D dk] D cgu

gS B dh] rks A dk B ls D;k laca/k gS ?

(A) ekrk (B) HkkbZ

(C) lkSrsyk csVk (D) cgu 

15- ;fn C = 3 vkSj CAT = 24] rks FAULT D;k gS

(A) 60 (B) 57

(C) 64 (D) 72

16- ml fodYi dk p;u dhft, tks vU; rhuksa ls fHkUu gks A

(A) XZYP (B) ADGJ

(C) KNQT (D) EHKN

17. Select correct combination of

mathematical signs to replace * signs

To balance the equation

45 * 5 * 3 * 27

(A) x = » (B) x » =

(C) » x = (D) = » x

18. Choose the correct alternative from the given ones that

will complete the series..

1,  3,  8,  19,  42, ?

(A) 89 (B) 84

(C) 82 (D) 70

19. In an examination, Rahul got the 11
th

 rank and he was

47
th

 from the bottom among those who passed. 3

students could not appear for the exam. 1 student failed.

What is the total no. of students?

(A) 60 (B) 62

(C) 59 (D) 61

20. If in a code language ‘PUTREFY’ is written as ‘XPQSTRL’

and ‘NAVIGATE’ is written as ‘GYMOWYQT’, how is

‘AVIARY’ written in the language?
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(A) YOMYLS (B) YMOYLS

(C) YMOYSL (D) YOMYSL

17- xf.krh; fpguksa ds lgh Øe dks pqfu;s] ftldks * fpgu ds LFkku ij

iquLFkkZfir djus ls larqfyr lehdj.k cu tk;sxkA

45 * 5 * 3 * 27 

(A) x = » (B) x » =

(C) » x = (D) = » x

18- fn, x, fodYiksa esa ls og lgh fodYi pqfu,] tks vuqØe dks iwjk djsA

1,  3,  8,  19,  42, ? 

(A) 89 (B) 84

(C) 82 (D) 70

19- ,d ijh{kk esa lQy gq, fo|k;kfFkZ;ksa es jkgqy dks 11oha LFkku feyk rFkk

og uhps ls 47osa LFkku ij FkkA rhu fo|kFkhZ vlQy jgkA fo|kfFkZ;ksa dh 

dqy la[;k D;k gS ?

(A) 60 (B) 62

(C) 59 (D) 61

20- ;fn ,d dwV Hkk"kk esa ‘PUTREFY’ dks fy[kk tk, gS ‘XPQSTRL’ vkSj

‘NAVIGATE’ dks fy[kk tk, gS ‘GYMOWYQT’] rks ml dwV Hkk"kk esa

‘AVIARY’ dks fdl izdkj fy[kk tk,xk ?

(A) YOMYLS (B) YMOYLS

(C) YMOYSL (D) YOMYSL

21. 
√

= 
√ 

(A) 49 (B) 20

(C) 16 (D) None of these

22. At a work site, a gang of labourers undertake to finish

certain activity in 8 hours. Unfortunately, right from the

start of the work, four of them remain absent, but the

rest manage to complete the work in 10 hours. What is

the original number of labourers in the gange?

(A) 24 (B) 20

(C) 16 (D) 12

23. How many terms of the series 1 + 3 + 5 + …… must be 

taken in order so that the sum may be 19600? 

(A) 140 (B) 120

(C) 240 (D) 150

24. Amulya alone does a piece of work in 2 days and Bindu

does it in 6 days. In how many days will the two do it

together?

(A) 2/3 days (B)   3/2 days 

(C) 5/3 days (D)        3 days 

21. 
√

= 
√

(A) 49 (B) 20

(C) 16 (D buesa ls dksbZ ugha 

22- fdlh dk;ZLFky ij etnwjksa dh Vksyh 8 ?kaVs esa fdlh fØ;kdyki dks iwjk

djus dk nkf;Ro ysrh gSaA nqHkkZX;o’k dk;Z ds vkjEHk ls gh pkj Jfed 

vuqifLFkr gksrs gSaA fdUrq 'ks"k Jfed 10 ?kaVs esa dk;Z iw.kZ dj nsrs gSaA 

Vksyh esa Jfedksa dh izkjfEHkd la[;k fdruh gSa ? 
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(A) 24 (B) 20

(C) 16 (D) 12

23- Js.kh 1 + 3 + 5 + …… ds fdrus inksa dks Øec} fy, tkus ij ;ksx

19600 gks tk,xk?

(A) 140 (B) 120

(C) 240 (D) 150

24- vewY; vdsys fdlh dk;Z dks 2 fnu es djrk gS vkSj fcUnq mls 6 fnuksa esa

djrh gSA nksuksa feydj mls fdrus fnuksa esa iwjk djsaxs?

(A)        2/3 fnu (B)        3/2 fnu 

(C)         5/3 fnu (D)        3 fnu 

25. A train M leaves Meerut at 5 a.m. and reaches Delhi at 9

a.m. Another train N leaves Delhi at 7 a.m. and reaches

Meerut at 10.30 a.m. At what time do the two trains 

cross one another? 

(A) 8.26 a.m. (B)   8.00 a.m. 

(C) 7.36 a.m. (D)   7.56 a.m. 

26. Three bells toll at intervals of 9,12 and 15 minutes

respectively. All the three begin to toll at 9 a.m. At what

time will they again toll together?

(A) 12.30 a.m. (B) 11.45 a.m.

(C) 12.00 a.m. (D) 11.20 a.m.

27. Find two numbers whose arithmetic mean is 12.5 and

geometric mean is 10.

(A) 20,4 (B) 15,10

(C) 20,5 (D) None of these

28. The sum of the series 5 + 13 + 21 …… + 181 is : 

(A) 2139 (B) 2476

(C) 2219 (D) 2337

25- ,d Vªsu M esjB 5 a.m. dks NksM+rh gS vkSj fnYyh 9 a.m. dks igqaprh

gSA nwljh Vªsu N fnYyh 7 a.m. dks NksM+rh gS vkSj esjB 7 a.m. dks

igqparh gSA ;s nksuksa Vªsusa fdl le; ,d&nwljs dks dzkWl djsaxh ?

(A) 8.26 a.m. (B)   8.00 a.m. 

(C) 7.36 a.m. (D)   7.56 a.m. 

26- rhu ?kafV;¡k dze’k% 9,12 rFkk 15 feUkVksa ds varjky ij ctrh gSaA ;s rhuksa

9 a.m. ij ctuk izkjEHk djrh gSaA nksckjk os fdl le; ,dlkFk ctus

yxsaxh ?

(A) 12.30 a.m. (B) 11.45 a.m.

(C) 12.00 a.m. (D) 11.20 a.m.

27- mu nks la[;kvksa dks ekywe dhft, ftudk lekUrj ek/; 12-5 rFkk

x.kksrj ek/; 10 gS

(A) 20,4 (B) 15,10

(C) 20,5 (D) buesa ls dksbZ ugha

28- Js.kh 5 + 13 + 21 …… + 181 dk ;ksx gSA
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(A) 2139 (B) 2476

(C) 2219 (D) 2337

29. Thomas can do a piece of work in 80 days. He works at it

for 10 days and then Ajay alone can finish the remaining

work in 42 days. Together they could complete the work

in:

(A) 24 days (B)   25 days 

(C) 30 days (D)   35 days 

30. Two trains are moving in the same direction at 65 kmph

and 45 kmph. The faster train crosses a man in slower

train in 18 seconds. The length of the first train is:

(A) 120 m (B) 180 m

(C) 100 m (D) 145 m

31. Small Pox is caused by

(A) Rubeola Virus

(B) Variola Virus

(C) Vericella

(D) Myxovirus

32. The age of the Earth can be determined by

(A) Geological Time Scale

(B) Radio-Metric Dating

(C) Gravity method

(D) Fossilization method

29- FkkWel ,d dk;Z dks 80 fnuksa esa iwjk dj ldrk gSaA og bl dk;Z ij 10

fnu dk;Z djrk gSaA vt; vdsys 'ks"k dk;Z dks 42 fnuksa esa iwjk dj 

ldrk gSA nksuksa feydj dk;Z dks fdrus fnkuksa esa iwjk dj ysaxs ?

(A) 24 fnu (B) 25 fnu

(C) 30 fnu (D) 35 fnu

30- nks Vªsusa ,d gh fn’kk esa 65 fd- eh-@?ka- rFkk 45 fd- eh-@?ka- dh j¶rkj

ls py jgh gSaA rst xfr okyh Vªsu, /kheh Vªsu ds fdlh O;fDr dks 18

lsd.M esa ØkWl djrh gSaA igyh Vªsu dh yEckbZ fdruh gS  ?

(A) 120 m (B) 180 m

(C) 100 m (D) 145 m

31- pspd gksus dk dkj.k gSaA

(A) :fcvksyk okbjl

(B) oSfjvksyk okbjl

(C) oSfjlsyk

(D) feDlksokbjl

32- i`Fokh dh vk;q dk fu/kkZj.k fd;k tk ldrk gSa

(A) HkwoSKkfud le;&ekiØe }kjk

(B) jsfM;ks&eSfVªd dky&fu/kkZj.k }kjk

(C) xq:Roh; i)fr }kjk

(D) thok’eu i)fr }kjk

33. This is a bacterial disease:

(A) Gonorrhea

(B) Cold

(C) Malaria
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(D) None of these

34. Laughing-gas is the name given to

(A) Nitrous oxide

(B) Nitric oxide

(C) Nitrogen trioxide

(D) Nitrogen dioxide

35. A red light is used in traffic signals because

(A) It is visible to people even with bad eyesight.

(B) It looks beautiful.

(C) It has the longest wavelength and can be seen

from along distance.

(D) None of the above.

36. Carbon monoxide is an inflammable gas. Which one of

the following is also inflammable gas?

(A) Helium  (B)  Nitrogen 

(C) Oxygen (D)   Hydrogen 

33- fuEufyf[kr esa ls dkSu lk thok.kqvksa ls gksus okyk jksx gS ?

(A) lwt+kd ¼xksuksfj;k½

(B) t+qdke ¼dksYM½

(C) eysfj;k

(D) buesa ls dksbZ ugha

34- gkl&xSl uke fn;k x;k gS

(A) ukbVªl vkWDlkbM dks

(B) ukbfVªd vkWDlkbM dks

(C) ukbVªkstu VªkbvkWDlkbM dks

(D) ukbVªkstu MkbvkWDlkbM dks

35- ;krk;kr flXuyksa esa yky crh dk iz;ksx fd;k tkrk gS] D;ksafd

(A) ;s [+kjkc n`f"V okys yksxksa dks Hkh fn[kkbZ ns tkrh gSaA

(B) ;g lqanj fn[krh gSaA

(C) bldk rjaxnS/;Z lcls vf/kd gS  vkSj yach nwjh ls ns[kh tk 

ldrh gSaA 

(D) mi;qZDr esa ls dksbZ Hkh ugha A

36- dkcZu eksuksDlkbM ,d Toyu’khy xSl gSaA fuEufyf[kr esa ls vkSj

dkSu&lh xSl Toyu’khy gSa ?

(A) ghfy;e (B) ukbVªkstu

(C) vkWDlhtu (D) gkbMªkstu

37. From which part of the plant is turmeric obtained?

(A) Root (B) Stem

(C) Flower  (D) Fruit

38. ‘Angioplasty’ is a procedure of clearing

(A) Gall-stone

(B) Tumour of Brain

(C) The blocked coronary arteries

(D) Pulmonary obstruction

39. The main constituent of natural gas is

(A) Methane (B)       Ethane 

(C) Propane  (D)   Butane 
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40. When you break a bar magnet into two pieces, you get

(A) one north pole and one south pole.

(B) two iron piece and with no magnetism.

(C) two shorter complete magnets.

(D) one piece a complete magnet and the other

simply iron.

37- iks/ks ds fdl Hkkx ls gYnh izkIr dh tkrh gSa+?

(A) tM (B) ruk

(C) iq"i (D) Qy

38- ^,sfUt;ksIykLVh^ lkQ djus dh ,d izfdz;k gS

(A) fir&v’ejh ¼xky&LVksu½ dks

(B) efLr"d ds vcqZn dks

(C) vo:) gzn~ /kefu;ksa dks

(D) Qq¶Qql dh :dkoV dks

39- izkdf̀rd xSl dk eq[; ?kVd gSa

(A) esFksu (B) ,Fksu

(C) izksisu (D) C;wVsu

40- tc fdlh naM pqEcd ds nks VqdM+s fd, tkrs gSa rc izkIr gksrk gS

(A) ,d mrj /zkqo vkSj ,d nf{k.k /zkqo

(B) pqEcdRo jfgr yksgs ds nks VqdM+s

(C) nks NksVs iw.kZ pqEcd

(D) ,d VqdM+k iw.kZ pqEcd vkSj nwljk dsoy yksgk

ENGLISH LANGUAGE 

41. An employment advertisement should _________ the

number of vacancies. (Fill in the blanks)

(A) provide (B)   specify 

(C) contain (D)   declare 

Direction (Q. No. 42 & 43) : Choose the word that best expresses 

the meaning of the underlined word. 

42. I’ am itching to tell you the news.

(A) feel obliged

(B) feel restless

(C) feel satisfied

(D) feel sickly

43. They are asking a preposterous price for the work.

(A) unrealistic

(B) unreasonable

(C) low

(D) absurd
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Direction (Q. No. 44 & 45) : Select the substitution that best 

expresses opposite meaning of the underlined word : 

44. Krishna’s remarks infuriated Chetan.

(A) silenced (B)   insulted 

(C) soothed  (D)   satisfied 

45. Repulsive

(A) Inductive (B)   Dull 

(C) Attentive  (D)   Attractive 

Direction (Q. No. 46 & 47) : Choose the alternative which best 

expresses the meaning of the given idiom/ phrase : 

46. Root and branch

(A) to collect

(B) to set abalaze

(C) to take hint

(D) completely

47. Wild goose chase

(A) a futile and foolish search

(B) an emergency

(C) conscious of

(D) interest in

48. the good are often _______ with their bones. (Fill in the

blanks)

(A) bury

(B) interred

(C) cover

(D) exhumed

Direction (Q. No. 49 & 50) : Find the wrongly spelt word : 

49. (A) calculate 

(B) articulate

(C) vacillate

(D) gesticulate

50. (A) careful 

(B) skilful

(C) beautiful

(D) unmindful

fgUnh Hkk"kk

51- ^fljnnẐ  'kCn esa lekl gS

(A) deZ/kkj;

(B) rRiq:"k
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(C) vO;;hHkko

(D) cgqczjfg

52- fuEu iafDr;ksa es iz;qDr jl gS%

'kksfHkr dj uouhr fy;sA 

?kqVq:uq pyr jsu ru eafMr eq[k nf/k ysi fd;sAA 

(A) okRlY; jl

(B) 'kkUr jl

(C) ohj jl

(D) J`axkj jl

53- ^vtqZu^ dk i;kZ;okph 'kCn gS

(A) vuwBk

(B) vo’o

(C) /okur

(D) ikFkZ

54- ^bR;kfn 'kCn^ dk lgh laf/k&foPNsn gS

(A) bfr + vkfn

(B) br~ + ;kfn

(C) bfr + ;kfn

(D) br~ + vkfn

55- 'kq) orZuh 'kCn gS

(A) izfr}fUnrk

(B) izfr}Unhrk

(C) izfr}U}hrk

(D) izfr}fU}rk

56- ^b"V^ dk foyksekFkZd 'kCn gS

(A) fojks/kh

(B) vfu"V

(C) vk’akdk

(D) 'k=q

57- fueufyf[kr iafDr esa vyadkj dks igpkfu, %

^rjfu ruwtk rV reky r:oj cgq Nk,^ 

(A) vuqizkl

(B) ;ed

(C) 'ys"k

(D) miek

58- fuEufyf[kr esa ls milxZ jfgr 'kCn dkSu lk gSa ?

(A) {kf=;

(B) fuj{kj

(C) fpjdky

(D) mŸkstuk

59- ^fi=kns’k^ esa lfU/k gS

(A) ;.k lafU/k

(B) v;kfn lafU/k

(C) o`f) lfU/k

(D) xq.k lfU/k
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60- ^?kkV&?kkV dk ikuh ihuk^ eqgkojs dk vFkZ gS

(A) cgqr vuqHkoh gksuk

(B) cgqr ;k=k djuk

(C) vusd yksxksa ls fe=rk djuk

(D) jkstxkj ds u,&u, volj ryk’k djuk

61. Which of the following Amendment Act of Constitution

provided a three-tier system of Panchayati Raj in the

State?

(A) 71 (B) 72

(C) 73 (D) None of these

62. The Environment (Protection) Act was enacted in

(A) 1986 (B) 1996

(C) 2005 (D) None of these

63. Indian Agricultural Research Institute is situated at

(A) Lucknow  (B)  New Delhi 

(C) Patna (D) Karnal

64. In India, Gene Bank of wheat is located at

(A) New Delhi (B) Ludhiana

(C) Kanpur (D)  Karnal 

65. National Green Tribunal in India has been established in

the year

(A) 2009 (B) 2010

(C) 2012 (D) 2013

61- fuEufyf[kr esa ls lafo/kku ds fdl la’kks/ku vf/kfu;e us jkT; esa

f=&Lrjh; iapk;rh jkT; O;oLFkk dk;e dh ?

(A) 71 (B) 72

(C) 73 (D) buesa ls dksbZ ugha

62- i;kZoj.k ¼lqj{kk½ vf/kfu;e ykxw gqvk

(A) 1986 (B) 1996

(C) 2005 (D) buesa ls dksbZ ugha

63- Hkkjrh; df̀"k vuqla/kku (IARI) laLFkku fLFkr gS

(A) y[kuÅ (B) ubZ fnYyh

(C) iVUkk (D) djuky

64- Hkkjr es] xsgw¡ dk thou cSad fLFkr gS

(A) ubZ fnYyh (B) yqf/k;kuk

(C) dkuiqj (D) djuky

65- Hkkjr esa us’kuy xzhu fVªC;wuy LFkkfir gqvk o"kZ

(A) 2009 (B) 2010
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(C) 2012 (D) 2013

66. On 14 April, 2016 Prime Minister Shri Narendra Modi

launched ‘Gramodaya Se Bharat Uday’ cmapaign from 

(A) Mhow (M.P.)

(B) Jind (Haryana)

(C) Rajkot (Gujarat)

(D) Lucknow (U.P.)

67. In which State Simhastha Kumbh 2016 is taking place?

(A) Haryana (B) Goa

(C) U.P. (D) M.P.

68. How many acre are there in one hectare land?

(A) approx. 2 acre

(B) approx. 2½ acre

(C) approx. 3 acre

(D) approx. 3½ acre

69. Who is the Vice- Chairman of NITI Aayog in 2015-16 ?

(A) Arvind Panagariya

(B) Surjit Bhalla

(C) Arvind Subramanian

(D) None of these

66- 14 vizSy] 2016 dks iz/kku ea=h Jh ujsanz eksnh us ^xzkeksn; ls Hkkjr mn;^

vfHk;ku dh 'k:vkr dgk¡ ls dh \ 

(A) egw ¼e-iz-½

(B) thsan ¼gfj;k.kk½ 

(C) jktdksV ¼xqtjkr½

(D) y[kuÅ ¼m-iz-½

67- flagLFk dqHak 2016 fdl jkT; esa vk;ksftr gqvk gSa \

(A) gfj;k.kk (B) xksvk

(C) m-iz- (D) e-iz-

68- ,d gsDVs;j Hkwfe esa fdrus ,dM+ gksrs gSa \

(A) yxHkx 2 ,dM+

(B) yxHkx 2½  ,dM+

(C) yxHkx 3 ,dM+

(D) yxHkx 3½  ,dM+

69- 2015&16 esa uhfr (NITI) vk;ksx ds mik/;{k dkSu gSa ?

(A) vjfaoan iuxfj;k

(B) lqjthr HkYyk

(C) vjfoan lqczefu;u

(D) buesa ls dksbZ ugha

70. NLRMP stands for

(A) New Land Records Modernization Programme

(B) National Land Records Modernization 

Programme 

(C) National Land revenue Modernization 

Programme 

(D) None of these
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71. Which one of the following was the first committee to

give suggestions for the development of Panchayats ? 

(A) Balwant Rai Mehta Committee

(B) Ashok Mehta Committee

(C) P.K. Thungar Committee

(D) None of these

72. Mahatma Gandhi National Rural Employment Guarantee

Scheme was started in the year 

(A) 2005 (B) 2003

(C) 2006 (D) 2008

73. First Agricultural Census was conducted in

(A) 1970-71      (B)   1985-86 

(C) 1995-96      (D)   1981-82 

70- NLRMP dk rkRi;Z gSa

(A) U; ySaM fjdkWM~Zl ekWMukZbts’ku izksxzke

(B) us’kuy ySaM fjdkWM~l ekWMukZbts’ku izksxzke

(C) us’kuy ySaM jsosU;w ekWMukZbts’ku izksxzke

(D) buesa ls dksbZ ugha

71- fuEufyf[kr esa ls dkSu lh iapk;rksa ds fodkl ds fy, lq>ko nsus okyh 

loZizFke lfefr Fkh \ 

(A) cyoar jk; esgrk lfefr

(B) v’kksd esgrk lfefr

(C) ih- ds- Fkqaxj lfefr

(D) buesa ls dksbZ ugha

72- egkRek xka/kh jk"Vªh; xzkeh.k jkstxkj xkajVh Ldhe izkjaHk gqbZ o"kZ

(A) 2005 (B) 2003

(C) 2006 (D) 2008

73- igyh d`f"k lax.kuk gqbZ

(A) 1970-71      (B)   1985-86 

(C) 1995-96      (D)   1981-82 

74. National Dairy Research Institute is situated at

(A) Anand (B)   Karnal 

(C) Ludhiana    (D)   Hisar 

75. Nagarjuna Sagar Dam is built on the river

(A) Godavari (B) Cauvery

(C) Krishna (D) Narmada

76. Which district of Haryana has highest literacy?

(A) Bhiwani (B) Panchkula

(C) Gurgaon (D) Faridabad

77. Which factory is situated in Faridabad?

(A) Rubber tyre

(B) Tractor

(C) Refrigerator

(D) All of the above
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78. Which breed of buffalo of Haryana is considered best?

(A) Murrah (B) Turrah

(C) Chaspa (D) Puscha

74- jk"Vªh; Ms;jh vuqla/kku laLFkku dgk¡ gSa \

((A)  vkuan (B) djuky

(C) yqf/k;kuk (D) fglkj

75- ukxktqZu lkxj ck¡/k cuk gqvk gS

(A) xksnkojh (B) dkosjh

(C) d`".kk (D) ueZnk

76- gfj;k.kk esa lcls vf/kd lk{kjrk okyk dSku lk ftyk gSa \

(A) fHkokuh (B) iapdqyk

(C) xqMxk¡o (D) Qjhnkckn

77- Qjhnkckn esa dkSu lh QSDVjh gS?

(A) jcj Vk;j

(B) VªsDVj

(C) jsÝhtjsVj

(D) mijksDr lHkh

78- gfj;k.kk dh HkSal dh dkSu lh uLy lcls vPNh ekuh tkrh gSa \

(A) eqjkZ (B) rqjkZ

(C) pLik (D) iq’pk

79. State Sport of Haryana is

(A) Kabaddi (B) Cricket

(C) Hockey (D) Wrestling

80. Which is the main magazine of Haryana Sahitya

Academy?

(A) Harigandha

(B) Haryana Sandesh

(C) Kayakalpa

(D) Panchjanya

81. Which is the birth place of Space Scientist Kalpana

Chawla?

(A) Gurgaon (B)   Kaithal 

(C) Karnal  (D) Panipat

82. The first battle fought in Taravadi (Tarain) was won by

whom?

(A) Balban

(B) Hemchandra

(C) Prithviraj Chauhan

(D) Kutbuddin Aibak

83. In the Battle of Independence 1857, Rao Tularam faught

against Britishers in the region of

(A) Narnaul, Rewari

(B) Rohtak, Jind

(C) Kaithal, Kurukshetra
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(D) Hisar, Sirsa

79- gfj;k.kk dk jktdh; [ksy dkSu lk gSa \

(A) dcìh (B) fØdsV

(C) gkWdh (D) dq’rh

80- gfj;k.kk lkfgR; vdkneh dh eq[; if=dk dkSu lh gSa \

(A) gfjxU/kk (B) gfj;k.kk lUns’k

(C) dk;kdYi (D) ikaptU;

81- vUrfj{k oSKkfud dYiuk pkoyk dk tUe fdl uxj esa gqvk \

(A) xqM+xk¡o (B) dSFky

(C) djuky (D) ikuhir

82- rjkoM+h ¼rjkbZu½ esa yM+s x, izFke ;q) esa fdldh fot; gqbZ Fkh \

(A) cycu

(B) gsepUnz

(C) i`Fohjkt pkSgku

(D) dqrcqÌhu ,scd

83- 1857 ds Lok/khurk laxzke esa jko rqykjke us fdl {ks= esa vaxzstksa dk

eqdkcyk fd;k \ 

(A) ukjukSy] jsokM+h

(B) jksgrd] thUn

(C) dSFky] dq:{ks=

(D) fglkj] fljlk

84. ‘Bujani’ ornament is wear-out on the

(A) Forehead (B) Nose

(C) Neck (D) Ears

85. Sohna city is famous for

(A) Lakes

(B) Hot water springs

(C) Gardens

(D) Modern Buildings

86. Bana Bhatta was a friend and state poet of the king

(A) Prithviraj Chauhan

(B) Harshwardhan

(C) Anangpal

(D) Hemchandra

87. Famous Indian classical vocalist Pandit Jasraj was born in

(A) Gurgaon (B) Hisar

(C) Rohtak (D) Karnal

88. Saraswati Wildlife Sanctuary is in the district of

(A) Hisar (B) Kaithal

(C) Sirsa (D) Palwal

84- ^cwtuh^ vkHkw"k.k /kkj.k fd;k tkrk gS

(A) ekFks ij (B) ukd esa

https://haryanajobs.in

https://haryanajobs.in


(C) xys esa (D) dkuksa esa

85- lksguk uxj fdl dkj.k ls izfl) gSa \

(A) >hyksa ds fy,

(B) xeZ ikuh ds dq.M ds fy,

(C) ckx&cxhpksa ds fy,

(D) vk/kqfud Hkouksa ds fy,

86- ck.kHkê fdl jktk ds fe= o jktdfo Fks \

(A) i`Fohjkt pkSgku

(B) g"kZo)Zu

(C) vuaxiky

(D) gsepUnz

87- izfl) Hkkjrh; 'kkL=h; xk;d iafMr tljkt dk tUe gqvk Fkk \

(A) xqM+xk¡o (B) fglkj

(C) jksgrd (D) djuky

88- ljLorh oUl; tho vHk;kj.; fdl ftys esa gSa \

(A) fglkj (B) dSFky

(C) fljlk (D) iyoy

89. As a Governor of Haryana, whose tenure has been the

longest one?

(A) Dhanik Lal Mandal

(B) Babu Parmanand

(C) B.N. Chakravarty

(D) Jaisukh Lal

90. Where the Indian Institute of Management is

established?

(A) Sonipat (B) Ambala

(C) Rohtak (D) Panipat

91. In which city of Haryana, the Metro reached first?

(A) Sonipat (B) Rohtak

(C) Gurgaon (D) Faridabad

92. The first woman mountaineer, who climbs over the

Mount Everest twice, is

(A) Santosh Yadav

(B) Sunita Sharma

(C) Malleshwari

(D) Mamta Kharab

89- gfj;k.kk esa jkT;iky ds :Ik esa lokZf/kd dk;Zdky fdldk jgk gSa \

(A) /kfudyky e.My

(B) ckcw ijekuUn

(C) ch- ,u- pdzorhZ

(D) t;lq[k yky

https://haryanajobs.in

https://haryanajobs.in


90- bafM;u bULVhV~;wV vkWQ eSustesUV dgk¡ LFkkfir gSa \

(A) lksuhir (B) vEckyk

(C) jksgrd (D) ikuhir

91- gfj;k.kk ds fdl 'kgj esa eSVªks lcls igys igq¡ph \

(A) lksuhir (B) jksgrd

(C) xqM+xk¡o (D) Qjhnkckn

92- igyh efgyk ioZrkjksgh ftlus nks ckj ekm.V ,ojsLV ij fot; Jh izkIr

dh

(A) lUrks"k ;kno

(B) lquhrk 'kekZ

(C) eYys'ojh

(D) eerk [+kjc

93. In Haryana, which place is known as ‘Chhoti Kashi’ due to

presence of ‘Nava Graha Kund’?

(A) Hansi (B) Jagadhari

(C) Gurgaon (D) Kaithal

94. Sihi village is known for the birth place of which Saint-

poet?

(A) Saint Haridas

(B) Saint Tulsidas

(C) Saint Ravidas

(D) Saint Surdas

95. Maharaja Agrasen is associated with which city ?

(A) Sirsa (B) Pehwa

(C) Rohtak (D) Agroha

96. On which date Haryana got his complete state status?

(A) 1
st

 November, 1966

(B) 30
th

 January, 1970

(C) 20
th

 June, 1965

(D) 2
nd

 October, 1968

93- uoxzg dq.Mksa ds LFkkfir gksus ds dkj.k gfj;k.kk \

(A) g¡klh (B) txk/kjh

(C) xqM+xk¡o (D) dSFky

94- lhgh xk¡o dks fdl lUr&dfo dh tUeHkwfe ekuk tkrk gS \

(A) lUr gfjnkl

(B) lUr rqylhnkl

(C) lUr jfonkl

(D) lUr lwjnkl

95- egkjktk vxzlsu dk lECkU/k fdl uxj ls gS

(A) fljlk (B) isgok

(C) jksgrd (D) vxzksgk
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96- gfj;k.kk dks iw.kZ jkT; dk ntkZ dc feyk \

(A) 1 uoEcj] 1966

(B) 30 tuojh] 1970

(C) 20 twu] 1965

(D) 2 vDVwcj] 1968

97. Which district of Haryana is irrigated by Western Yamuna

Canal?

(A) Rohtak

(B) Sonipat

(C) Karnal

(D) All these district

98. The Headquarters of which district of Haryana is in

Narnaul?

(A) Rewari (B) Mahendragarh

(C) Bhiwani (D) Gurgaon

99. Who is the Guru of Baba Ramdev?

(A) Acharya Rajendra

(B) Swami Vivekanand

(C) Acharya Balkrishna

(D) Acharya Baldev

100. Sindhara Gift, given to daughter or sister, on the occasion

of

(A) Deepawali

(B) Holi

(C) Makar Sankranti

(D) Teej

97- if’peh ;equk ugj }kjk gfj;k.kk ds fdl ftys esa flapkbZ dh tkrh gS \

(A) jksgrd

(B) lksuhir

(C) djuky

(D) mijksDr lHkh ftys

98- gfj;k.kk ds fdl ftys dk eq[;ky; ukjukSy esa gSa \

(A) jsokM+h (B) egsUnzx<+

(C) fHkokuh (D) xqM+xk¡o

99- ckck jkenso ds xq: dkSu gSa \

(A) vkpk;Z jktsUnz

(B) Lokeh foosdkuUn

(C) vkpk;Z ckyd"̀.k

(D) vkpk;Z cynso

100- fla/kkjk migkj csVh ;k cgu dks fdl volj ij fn;k tkrk gSa \

(A) nhikoyh

(B) gksyh
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(C) edj ladzkfUr (D) rht
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